mmmmmmmmmmmmm

CAMFIL Stock List

Part No : 116300005

Part No : 402137001

Part No : 049880-005

Part No : 049880-006

Part No : 049880-008

Part No : 049880-012

Part No : 116300003

Part No : 402137003

Part No : 059413006

Part No : 049880012

Part No : 125343005

Part No : 049880018

Part No : 116300007

Part No : MERV-A 8-A

Part No : 049880008

Part No : 1IFRK V 610x457x150
Part No : 1E 600 762x762x150
Part No : 1E 457x610x150
Part No : 1046.90.26

Part No : 1057.05.21

Part No : 2000893

Part No : CGT0103121-SLR
Part No : CGT0104111-SLR
Part No : Cam-Flo XMGT6 M6
Part No : Cam GTR4V-300 F9
Part No : Cam GTR4V-300 M6

ADAMS INTERNATIONAL TRADING 1275 Bloomfield Ave Unit 81 Fairfield 07004, New Jersey, the
United States Phone : +1 (973) 228-4293 Mobile : +1 (201) 878-2619 Fax: +1 (973) 858-0288 E-Mail:
info@adamsint.net Web: http://www.adamsllc.net/

Get quote now ! info@adamsint.net



Part No : 540959

Part No : M6x16 (1ISO8677) Carriage Bolt

Part No : M16x172 Expansion Bolt

Part No : M 8x95 HSAT Expansion Bolt

Part No : M6x16 (Typ PT, 1SO13918) Weld Bolt

Part No : M8x50 (Typ PT, 1SO13918) Weld Bolt

Part No : M10 (t=0.5-3.0) Blind Rivet Nut

Part No : SXC14-S19-5,5x134 Self Drilling Screw

Part No : 6,3x19 Type AB/Staps 208 Thread Forming Screw
Part No : ST3,5x9,5 RTS, 1SO14585C Thread Forming Screw
Part No : ST4,8x25 RTS, 1SO14585C Thread Forming Screw
Part No : 1" NPT (1SO4144) Weld Nipple

Part No : Star handle

Part No : M12x80 Expansion Bolt

Part No : 1" 150 Ib ANSI B16.5 Slip-On Flange

Part No : 2068614

Part No : 2,2/2,6 kW L2 IE3

Part No : mxerg-95-491x78-ps-2pu/caverion

Part No : 3145012

ADAMS INTERNATIONAL TRADING 1275 Bloomfield Ave Unit 81 Fairfield 07004, New Jersey, the
United States Phone : +1 (973) 228-4293 Mobile : +1 (201) 878-2619 Fax: +1 (973) 858-0288 E-Mail:
info@adamsint.net Web: http://www.adamsllc.net/

Get quote now ! info@adamsint.net



